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JEGZ  No. BFZ IRA #R-IEEGE $v97 b o8k L £
1 4609 #K HE L1 2-1 = 1:53.21 0.00
2 4614 EE BE AEAE 1-1 = 1:55.39 2.18
3 4603 AR higE 1-2 =] 1:55.58 2.37
4 4607 EAK TEF ZX 1-3 2 1:55.83 2.62
5 4601 i fER KSC 2-2 =] 1:56.58 3.37
6 4610 IFAL DFE #E)I 1-4 P23 2:00.12 6.91
7 4608 BEHE #K EPAS 2-3 = 2:05.13 11.92
8 4605 HIHE # hiZiE 2-4 % 2:05.56 12.35
9 4612 ER #pE ZENEE 2-5 % 2:05.71 12.50
10 4602 FX HE HLITS 2-6 P 2:09.68 16.47
11 4616 #H F&F AEAE 1-5 % 2:12.42 19.21
12 4611 &R mRAt A £ 34 1-6 =P 2:12.92 19.71
13 4615  JKA& BhE AiBES 2-7 B 2:16.59 23.38
14 4606 B0 ES EJA 1-7 b 2:23.12 29.91
15 4613 R HE 1-8 & 2:30.25 37.04
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